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F—1EKE %9 276. Oha 8/10 LI F 5/10 AR — — 10m 310 4%
EEEMAME | % 34.5ha 10/10 LR 5/10 LAF — — 10m #1.3%
I 1 #3 310. 5ha #11.T%
FEIERE %9 19. 5ha 10/10 L' F 5/10 LIF — — 10m #70.7%
EEERihig 5 8.3ha 15/10 LI'F 6/10 LLF — — 12m £#90.3%
I 2t #27. 8ha #1.0%
F—EhEE # 13.0ha 15/10 LI'F 6/10 LLF — #90.5%
EEEAE | #9144, 9ha 20/10 LIF 6/10 LIF — #5. 5%
I 2t #3 157. 9ha #16. 0%
S_BREE | % 18 1ha 15/10 LI R 6/10 LI F — #0. 7%
EEEAME | #5107 2ha 20/10 LIF 6/10 LIF — #4.0%
I 2t #3125 3ha #4. 7%
FE—EEE %9 853. Tha 20/10 LLF 6/10 LLF - $932. 2%
Hhis;
I 2t # 853. Tha 32, 2%
FEIEEE %9 132. 8ha 20/10 LI F 6/10 LLF - $95.0%
Hhis;

N &t #7 132. 8ha #55. 0%
A1 2 Hhisf # 1.2ha 20/10 LIF 6/10 LIF — 0. 0%
N &t # 1.2ha 0. 0%
L R 2 3 #7 68. 5ha 20/10 LIF 8/10 LIF — 2. 6%
N &t # 68. 5ha 2. 6%
7 his; #3 153. Oha 40/10 LT | @/10LP * — #5. 8%
# 27.7ha 60/10 AT | ®/10LIF * — #1.1%
I st #3 180. Tha 6. 9%
4 T 2 this; # 302. 4ha 20/10 LAF 6/10 LI R — 114y
N it %9 302. 4ha 11, 4%
T i #3 128. Oha 20/10 LLF 6/10 LIF — # 4. 8%
I 5t #7 128. Oha 4. 8%
TE=MiE | # 49.%ha 20/10 LAF 5/10 LAF — #1.9%
#1 313. Tha 20/10 LIF 6/10 LIF — #11.8%
I 5t #7 363. 6ha #13. 7%
& it #9 2, 652. 4ha 100. 0%
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